EARAROBEEIERT — 2 N— IBISH —F

20185F2H 288 (k) 26E&&HE3H

m 34 Yo% 3% ‘ [R#&] B ‘ [msm]  — | & (&) 14000 B
[AE4£] 1 7 :250,000 @ 2 7% :63,000 @ 3% :25,000 W  43%:15000M” 5% :10,000
B ®RBE mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
8 SHEKX :33. -1-1- X — ROHE (BHE)
1 4 ZLANI 4 3 54_05 1(3_3)8 1-1-1-2 | 40.6 2 (3_934) mn
XL TANI N B:TLAHAL2R =
43 | DEEEE— 1:34.3 9-9-8-1 |40.0| — 4 419 | ROFEE (BHE)
5 H g| ¥ L%— 56.0 @172 o) | R
L:F 1 —TAHhA B:wUV->7 BER BB
= 4 3 | AE— 1:35.0 5-5-2-2 | 41.5| — 1 467 | ROFEE (BHE)
3Bl 6| R—F>772R 54.0 3) (<) | W) KX
L:TZRT 88— B:T714—-WFT7> aE Rl
0,8 AR : 74~ — ROFEE (BHE)
al1]q1|7v—>rvayy it 3 LA 1(.13/52.)1 7-7-4-5 | 41.3 7 (3_7‘3 hes
L:YZRH—3IZ24— BII-XTv X FIRI45%
3 Y # 3 | KEER 1:35.3 3-3-6-4 |41.1| — 3 381 | BATRA (%H2)
5(8/9 E-FRU=T 54.0 (1172 (-4) ") A5
74NV E B4 T7Aa-5 HHEMS
o oS FEREAR :35. —6-5- . - AEE (BHE)
6lzl7|51H>nyve ft 9| EER 1(13/52;1 6-6-5-6 | 41.4 6 (4+730) Al
R:FHYTTILRE B:TTFFTIN— HESH S TUyTNL—
o gt S J= 43 B3 | LB 1:35.4 8-8-7-8 |41.2| — 8 | 45 |WEE (BEHE)
7 3| EVYYHZ/THI 54.0 (NF) -2 (R J PNt
R:Fh¥<=7128 B:T732T740 KI5
i 4 3 | 2T 1:37.7 4-4-3-7 |44.1| — 9 416 | FIUEE (BHE)
8 2 ARG/ 9T4 R ¥¢53.0 (21 ) 1) () b—PNﬁﬁﬁ
L:2bACTYE—> BOXREHFHUT EEHS
— === 3 | EgZsth - 2-2 - — 42, ek (BEHE)
%% 5|5 77774 # ~52.0 (chik) ° (_26) AH RAA
L:A— K774 % B:H~v—v1—> IWE R
® I—F—@EBIERL
|S=7r= 4,5,9,2,6,7,1,3,8
Ao=5"= 4,5,9,2,6,7,1,3,8
T =35r= 4,6,2,1,7,9,3,8
41—F— 8, (4,6),9,1,7,2,3
[ RN
B 4 290M 74K 4-8 340 & 4-8 610M &R 4-6-8 600F
# B 4 1204 4-6 160F B E 4-8 1,510 EE 4-8-6 6,290/
8 1509 6-8 190H B H 4-8 2,370
6 100M

ABICOVWTRDTEEERROODE. TR LIV,




